Monday 18th January 2021
[image: ]LO: I am learning to identify coins.
I can recognise 1p and 2p coins.
I can recognise 5p and 10p coins.
I can recognise 20p and 50p coins. 
I can recognise £1 and £2 coins.

Flashback Four

1. 5 + 2  =  10 - ____

2. Draw the shape that has 3 vertices and 3 sides?



3. Which day comes after Wednesday?

4. 3 x 2 = ____
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Dora says:

All coins are round.

Do you agree with Dora?

Justify your answer.
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The tooth fairy left some money for two
children.
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Jack has 50 pence. Mo has one pound.

Jack thinks he has more money because
his coin is physically bigger.

Explain why Jack is wrong.
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Which is the odd one out?





